THULE

Thule XT Kit 3021

> Instructions

DACIA Dokker, 4-dr Van, 12-

FIAT Doblo, 3-dr Van, 00-03, 04-05, 06-09
FIAT Doblo, 4-dr VVan, 00-03, 04-05, 06-09
FIAT Doblo, 5-dr Van, 00-03, 04-05, 06-09
FIAT Doblo Maxi, 4-dr Van, 08-09

FORD Tourneo Connect, 5-dr Bus, 03-13
FORD Transit Connect, 4-dr VVan, 03-13
MERCEDES Citan, 4-dr VVan, 12-

NISSAN Kubistar, 5-dr Van, 04-

RENAULT Kangoo, 5-dr Van, 98-02, 03-07, 08-
RENAULT Kangoo Maxi, 5-dr VVan, 10-

This kit is only for vehicles with fixpoint mounting.

AN tar—s || A\
Q [Towns] Q o] 6 kg / 13 Ibs
=| Max.75kg/165Ibs | % § ¥}
> Instructions > Instructions g’:l’:ﬂ:'
751 753 SNT— N\ |
‘ooﬂ:ack ‘owack + ‘E‘J‘, T_T \\ \‘
o - U S ¥
m—— ) = 9 kg /20 Ibs
) o = | Max.100 kg /220 Ibs |
> Instructions | roune | A e&m 130 km/h
>Securit somn RO
v 2w () ‘\
pmgm g c
= =7 = RE=E
ISO 11154-E
183021 Bring your life

€.20140321 thule.com

509-3021-06



753

FootPack

31464

M6x30 mm Ei x4

50603

M8x40 mmE] x4

50786

= x4

50229
6mm 1

509-3021-06



753

FootPack

“

1 R, 4
A A A

EN
DE
FR
NL

ES

sv
DK
NE
Fl

Only a few turns

Nur wenige Umdrehungen
Quelqgues tours uniquement
Slechts enkele slagen

Solo qualche giro

Solo algunas vueltas
Nocdes basicas

Endast ndgra varv

Kun nogle f& omgange
Bare noen fa omdreininger
Vain muutama kierros

ET Ainult moni pdore

Lv Tikai dazi apgriezieni

LT Tik keli pasukimai

PL Wystarczy kilka obrotéw
RU TOsBbKO HECKOSBKO 060POTOB
UK Jnwe aexineka 0bepTis
BG CaMo HSKOSKO 3aBbpTaHns
cs Pouze nékolik otacek

SK Len niekolko otacok

SL Le nekaj obratov

HR/BiH Samo nekoliko okreta

RO
HU
EL
TR

ZH
JA
KO
TH

Doar cateva rotiri
Csak néhany forditas
Movo Aiyeg TTeplotpodeg
Yalnizca birkac tur
his Olyss o= AR
D'212'0 190N 91 HE
LRl
2 ~ 3 [EHEED I
% ot E2/H F

evdavausay

509-3021-06




1 751 ‘ 753 751 753 753
FootPack FootPack l
RENAULT Kangoo Maxi
01 27

==

509-3021-06



1 751 ‘ 753 751 753 751

FootPack

DACIA Dokker

o1 27

2 e

509-3021-06



2 751

FootPack

Q 5mm 6 mm
x1 x1 M8x40 mmE| x2
A DACIA Dokker B
RENAULT Kangoo Maxi

509-3021-06



2| Y 753

FootPack

|
e T 77 6mm \%
(AR :ﬁ E E —
‘ 1 M6x30 mm | X4 Mexao mm =l 3 4 /

x1
----------------------- = x4
FIAT Doblo, ! DACIA Dokker NISSAN Kubistar
FIAT Doblo Maxi | FORD Tourneo Connect RENAULT Kangoo
E FORD Transit Connect RENAULT Kangoo Maxi
1 MERCEDES Citan

M8x40 mm é

C Fiar ! DACIA D
Peoo------c-sooo------. 1 FORD

;Q 5mm ' ! MERCEDES

x1 | 1 NISSAN

....................... ' RENAULT

Y o =
.

509-3021-06



Thule Sweden AB, Box 69, 330 33 Hillerstorp, SWEDEN [Z info@thule.com m thule.com
Thule Inc., 42 Silvermine Road, Seymour, Connecticut 06483, USA Phone: 800-238-2388 [] : :

» PART OF THULE GROUP © Thule Group 2014. All rights reserved. 509-3021-06



